"I. NIEDERLANDISCHES LIED, CANTIO BELGICA.

M

‘Wehe, Windgen, wche.
[ o S N d et 1 ; N -
g *’”iﬁ‘ﬁi' ] Al AL
eto O g O |t
4. Variatio.
; A e :
ot pr | TH |y T F 7
e L *‘Eﬁﬁg‘;
| # u 4 T
= 7 iif ‘kfl ] uﬁ g‘ : 3 = ”:“!ﬂ?d:
o7 s % I 5 A S L E R A 7 g7 &
’, a —— e = —

2. Variatio.

X r L. ¢ H;.ii:j:ii—i_i_._d_‘_é_‘_#
> Jam— = — prony = — pmp——
P | F T 57
g O L) ::. 1 ;} = - t 4
e * ——r

1) H 1 i { ' 1 Fé ‘{ ul' ‘= ==
:"‘iﬂ'ﬁjﬂ“iﬁ_ e i
& o
g 2
T <
3. Variatio.
i
Y .l
— F

EEt )

D.D. TIL



|
Id

| — L1

o
=

4. Variatio.

‘

Mﬂ QL
e 1
LA .

% M

1)

19 i
T
3%

L J | 1NR
e ol
i

il
[ WX
3
T [ IR
all
i
LIS
i |
[TEs %
U
M
el
lu | 1A
mesi
Hgm} il

| 10R
Bid
b
A I YN
m p oL
w | 188
b
j, ARE
i wli]
M o
[TT®
ol
QL
e
®
™ N
<y W_U gz

5. Variatio in Tenore.

e
—=

I,
™
1} J
e = 2R[e
as oh
-
-
]
] —e V\ur
-
1)

hp!

3
J

e
|

I -

Id
Y

| s

&
17
I

6. Variatio.

T $ #
TR
&1
o
[ Y
[ 18
TR %
LU TTORN. ™ N
X
z 1
TR ™ ®
ESS
el
TR S
<
o
flu TToa__
@
TN e
o
+ T B g
TR - @l
& o
.r:
T L
¢l
“Treel— —w
lJr 1r|..|lﬁ
o g Tree_—%
&L gl
SN —————_ S — e

D.D. T. 1.



83

L

(.

7

S
[
= le 1
e i
P T
» £
P
I‘f \
1 F o e e e
T E
P e o e
et ey
= # I =
T

."ii C

1
i

t
T
&
ry
#®
i
v
¢
i 173
€
©
1
X7
£
b — it
-‘-
S/(
7
s <2
T
T
I

-
1

g

)

D.D. T 1.

O
i'-«

§——t
L
¥ A==
| I
3 3
r
2
.
i -.‘
.
I:‘

.
F

|
et

’
I=
——

| J_ ————
| !
i
F 1 1 M
-F-
—*
)

$4ge

17

74
(L

7. Variatio
4 ~
g7 -
4
o
s ;3” | f
SERe ’ |
s :
A N
=
Fa)
) f
8. Variatio.
o)
UUIT:II;_JII!'IllF
[ I




54

9. Variatio.

SrESSsrs=s
T 7

(7]

7L

10. Variatio.

ff-?-

o

11. Variatio.

——

2

i

)

]

Vo)

D.D.T1



K>

i

| &
i
¥

o

Y.
f-_
r 'H_’I.::E"
BA TN
19 a8
i

I

]
{e]
il
%i
! '] ”;"
|

™
Dot
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